MCR3U SOLUTIoNS

lensen

' ( 1.4 Working with Radicals - Worksheet

1) Simplify
a) 3(4,/5) b) V5(—2v7) c) 2v/3(3v2)
*lads - ) S

2) Express each as a mixed radical in simplest form

a) V12 b) V147 c) V252
- 555 J49x3 - Sl
AR = xJ3 203 xJT
AR - (ST
3) Simplify
) 2v/3 — 5v3 + 443 b) 11V5 — 4V5 — 5v5 — 6/5
- Zfi o _L{E
W6 — 4vZ + 3V6 -[V2 d) 2v10 —V10 — 4VI0 + V5
“HC -552 = -3J6+Jg

4) Add or subtract as indicated

a) 8v2 — 48 + /32 b) V20 — 4V12 — V125 + 23
- B A0 + ()03 * (743 ) - (BYR) 2
* AR -¢Ja vy SIS -2 - 555 1R

ER R = 30T -3



) 5V3 —V72 + 243 + 8

535 - (FB) (0% ()
50300 0T Ay

- 403 -4

5) Expand and simplify

a) 5v6(2v3) b) 8V5(+/10)
B LN 2 %56
< 10 ()7 * (3207
© 30Ja ~Yodg
6) Expand and simplify where possible
a) 3(8 — V5) b) V3(V6 —v3)
= a4 -3¢ 05 - 7
“(F)EBY- Ja
203 -}
7) Expand and simplify where possible
2 (VE + 5)(}«/;+ 5)
-y +6ﬁ_+“6_$%, YA
= A O ¥4
P WEATVE]

¢) (1 ++5)(1 - 5) DO
= (VY (BY
o [-5

i

d) V44 + /88 + /99 + 198

RN (orys ()

R ARy 3570,

= SN+ 555
c) 11v2(5V3)
= 5506
c) 8V2(2v8 + 3v12)
2 16dl6 vy Jay
" 6 Y ()T
= 64 +490¢G
b) (V3 + 2v2)(5 + 5v2)

2532 455C +lod3 o0
= SUR vayg 21003 + 30

d) (4 -3V7)(V7 + 1)

Yo7 +Y - 330q -3
=107 v Y-\
e ﬁ ~ (7



8) Simplify

a) V54 — —V150 b) >V8 +:v50 - ZVI8
2 - L
() 4 (m)w) <00 IR (e
o - lﬁ*- _
R 2 a5
N " ada
= Z0C

9) Find a simplified expression for the area of each shape

b)

10) Find the area and perimeter of the rectangle shown. Express your answer in simplified radical form.
prapts A= @aE)  P=3Ga)ak)
fems 2> 26438 “WT e W7 O

/ Bcm 42 39?6
' Yz AT




11) Simplify each of the following

a) 21-7v6 b) 1248
7

. 7“3'6@_ - \R-(JQ(J%

7 |

“2.9% N hl&* Yo,
il
“H(3-53)
~ 7 3
= 3,@
Answers

1)a) 12v5 b)-2v35 c) 6V6

2)a)2v3 b)7V3 ) 6v7

3)a)V3 b)-4V5 ¢)4V6—5v2 d)—3Vi0+V5

4)a) 42 b)-3V5-6V3 ¢)14V3 —4V2 d)5V11+5vV22
5)a) 30vZ b)40v2 c)55V6

6)a) 24 —3V5 b)3vV2—3 c)64+48V6

7)a) 27 + 10v2 b)5V3+5V6 +10VZ+20 c)-4 d)—17 ++7
8)a) —-v6 b)2v2

9)a)3v2 b)60vV2 )45 d)2=n

10) area = 12+/7 cm?; perimeter = 12 + 4v/7 cm

11)a)3-v6 b)3-+3




